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Boundary Point Method
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Strategy: Break the L and R side into a system and analyze the graph.
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1. Graph to find the intersections of the
Left and Right Functions

2. Find the boudary point(s), mark on a
number line.

3. Test a point. Decide which area to
shade.
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® 5-(0-3)=3%x ©® 4dx+y=-2
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s x = -4 solution to....
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but there o few wmove

an infinite number to
be exact

we'll ghow thewm  oephic w\\7
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/To solve a 2-variable inequality: \

Change to an equation.

Solve for y (if possible)

Graph the boundary function.
Then test a point, above or below,

Then shade the appropriate side. /
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